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Note: Figures to the right indicate marks.

- Q.1

(C)

A and B are partners sharing profits and losses in the ratio of 7:3.
Their Balance sheet as on 31st December 2017 is as under.
Liabilities Rs. Assets ' Rs.
Capital: Machinery 120000
A - 180000 Furniture 15000
B - 120000 300000 | Stock "1 150000
Creditors . | 120000 | Debtors 120000
General Reserves 6000 | Cash 2000
Profit & Loss Alc 12000
426000 426000

They admitted C with the foilowmg conditions.

C will be given 1/5 share. in the profit which he gets in equal
proportion from both the partners

C will bring Rs. 12000 in cash as goodwill. The old partners will
withdraw the amount of goodwill immediately.

C will bring Rs. 60000 for Capital.

5% Bad debts reserve is required on debtors.

Value of Machinery to be increased by Rs. 30000.

Value of Stock to be reduced by Rs. 12000.

Prepare Profit and Loss Adjustment Account, partners capital
accounts and balance sheet after the admission of C.

OR

X and Y are partners in a firm sharing profits and losses in the ratio of
7:5. They admit Z as a partner with 1/6th share in the future profits. Z
is required to bring Rs. 20000 as his capital and Rs. 96000 for
goodwill, for his 1/6 share in the profits, which he acquires 1/24th
from X and 1/8th from Y. The profit of the firm for the first year was
Rs. 48000.

Give Journal Entries with necessary calculations.
A and B share profits and losses in the ratio of 3:1. They admit C with
1/5th share and their new ratio is 5:3:2. The goodwill of the firm is
valued at Rs. 60000. How will goodwill be distributed ?
Explain: Problems arising on admission of a partner.
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Q.3

Write note on : Payment to retiring partner.
P, Q and R are partners of a firm sharing profit and loss in the ratio of
3: 4 5..P and Q will share future profit equally. Goodwill of firm valued
at Rs. 120000 will not be appeared in the firm. R retires from the firm.

Give journal entry only for Goodwill of R's share.
A, B and C are partners in a firm. A retires. B and C agree to acquire
A's share in the ratio of 5:3.

Find out New Profit sharing ratio.

OR

Mina, Lina and Rina are partners sharing profit and loss in equal
proportion. Their balance sheet on 31-3-17 was as under:

Liabilities Rs. Assets Rs.

Capital: Goodwill 7200

Mina- 40000 | Lan & Building 40000

Lina - 24000 Investments

Rina - 36000. - | 100000 | (cost price) 8000

General Reserve 7200 | Furniture 18000

Creditors 20800 | Stock 13120

Investment Debtors - 258600

Fluctuation Fund 720 | - BDR . 800 24800
Cash balance ' 8000
Profit Loss Alc 9500

128720 128720

Rina retires on the above date subject to the following terms.
The goodwill of the firm is valued at Rs. 12000.
Land and Building is to be valued at Rs. 44000.
Investment Fluctuation Fund will be Rs. 480.
There is no need to create Bad Debts Reserve on Debtors.
Stock is to be decreased by 25%.
Provision for discount reserve at the rate of 4% on creditors.
Rs. 32000 is to be retained as Rina's Loan in the firm and remaining
amount is to be paid in cash.
Prepare necessary accounts and Balance Sheet of New Firm
after retirement of Rina.

Amar, Akbar and Anthony are partners sharing profits and losses in
the proportion of 3:2:1. They decided to dissolve the firm on 31st
December 2017 on which date their balance sheet showed the
following details.

Liabilities Rs. Assets Rs.
Capital: Goodwill 30000
Amar- 30000 Machinery 48000
Akbar - 45000 Stock ‘ 45000

| Anthony- 6000 81000 | Debtors 60000

General Reserve 18000 | - BDR 3000 57000
Bank Loan 32000 ; Bills receivable 18000
Creditors 81000 | Cash Balance 12000
.| Profit & Loss A/lc 9000
219000 ~ | 219000
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Additional Information:
Machinery and stock realised Rs. 60000.
Bills receivable realised Rs. 15000.
Rs. 45000 were recovered from debtors. '
Furniture, which the firm had earlier written off is sold for Rs. 9000.
Creditors were paid Rs. 75000 in full settlement.
Amar agreed to repay Bank loan.

Anthony was declared insolvent. Rs. 1500 was received from his
personnel assets.

Prepare necessary accounts with necessary calculations.

OR

A, B and C are partners sharing profit and loss in the proportion of
3:2:1. Their balance sheet on 31st March 2018 was as under:

Liabilities Rs. Assets : Rs.
Capital Accounts: Land 50000
A - 190000 Building 70000
B - 5000 Machinery . 50000
c - 5000 200000 | Debtors 22000
Creditors . 35000 | - BDR 2000 20000
General Reserve 18000 | Stock 20000
P&LAK 12000
Cash 31000
253000 253000

Additional Information:
Assets realised as under:

Land - Rs. 40000
Machinery Rs. 30000
Building Rs. 60000
Debtors Rs. 15000

A takes away stock for Rs. 17000. _
Creditors were discharged by deducting discount Rs. 5000.
Dissolution expenses amounted Rs. 6000.
An unaccounted debt of Rs. 17000 was paid off fully.
B and C become insolvent. Rs. 3000 and Rs. 2000 respectively
received from their Assets towards capital deficiency.
Prepare :
(1) Realisation Account ~ (2) Partner's Capital Account
(3) Cash Account :

S, R and P are partners in a firm with the share in profits and losses
in proportion of 5:3:2. Their balance sheet disclosed the following
position on 31st March 2017_.

Liabilities , Rs. Assets Rs.
Capital: Stock ' 20000
S 20000 | Sundry Debtors 30000
R 22000 | Furniture 4000
P 12000
54000 54000
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Q4

The firm was dissolved on 1s April 2017 and it was decided to

distribute cash as and when available on realisation of assets.

Assets realised as follows:

On 31st May 2017
On 14th July 2017

On 21st September 2017
All the assets were disposed off on 27th September 2017 and
the books were closed.
Show the distribution of cash among partners by Maximum Loss

Method.

Rs. 12000
Rs. 24000
Rs. 6000

P

OR

The following is the balance sheet of X, Y and Z as on 31st December
2017, who share profits and losses in the ratio of 2:2:1 respectively.

Liabilities Rs. Assets Rs.
Sundry Creditors 105000 ; Cash in hand 14000
Capital Accounts: Sundry Debtors 84000
X - 105000 Stock 154000
Y - 84000 Furniture & Fixtures | 70000
Z - 28000 217000

322000 322000

The firm was dissolved on the above date. The assets wére
realised by following instalments.

1st Installment Rs. 70000
2nd Instaliment Rs. 105000
3rd Installiment Rs. 63000

Show the distribution of cash. among the partners by Surpiué
Capital Method. :

(15)
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